EGS5000 000000 (ucnaicgv.f)
NalOOOOOOOO (cg Version)
(August 11, Draft)

oo moooo mad

O 305-0501 DO 0DOO0ODOOODOOO
gboobgoboooooboon



O

Combinatrial Geometry (CG) 1
L1 Body OO0 « oo oo e oo e e 1
2 10 I 1
1.3. DOOODO0OD0ODO . .0 e e e e e e e e e e e e e s e s 2
000000000 ucnaicgv.fOO0 4
2.1, CGOOOODO ..o e e e e e e e e s e 4
goboboboooon 5
3.1, O0000000:Step 1. . o o v vt e e e e e e e e s e e 5
32, 00000000 :Step 2« o v v v v e e e e e e e e e s e s s 7
33. D0OO0O0O0O0:Step 3 . o v v v o e e e e e e e e s e s s 7
34. 000O00000:Stepd . o v v v v e e e e e e e e e e s s s 9
3.5. O0OO0O0O0O0:Step b . v v v v v e e e e e e e e i s e s 9
3.6. OO0OO0O0O0O0:Step 6 . . v v v v v o e e e e e e s e s e e 10
3.7. D000 00O00:Step T« v v v v o e e e e e e e e e e e s e s 10
3.8. D0OOO0OOOD0: Step 8 . o v v v v e e e e e e e e et e e s 10

381, OO0ODO: . o oo e e e e e e e s e e e 12
3.9. D0OO0O0O0O0:Step 9 . . o o v o o e e e e s s e 12
3.10. Subroutine ausgab . . . . . . ... L e 13
3.11. Subroutine howfar . . . . . . . . . . . ... 15
ucnai.f 0 ucnaicgv.f 00000000 15
gogdd 16
5.1. O0OO0O0OONaIODOOOODO ... v v e e e e e e e e et e e e e e e e 16
5.2, 000000 GeOOOOOO .« . v v vt i e e e e e e e e e e 16
53 2 I 0 16
gooobooon 17
0 I 17
6.2. DODODODO . .o e e e e e e e e e e et e e 21
2 2 0 22



1. Combinatrial Geometry (CQG)

1.1. Body O QOO

EGSO CG 1000000000000 BedyOOOODOOOOOOOO

1.000 (RPP)
x-,y-0 z000000000000000000000000000000000
2.0 (SPH)
00000000000 vOO0OoOoooooo
3.00 (RCC)
000000000000000 VOOOOOOOOO0O0000 HOODOOOO0O0O000000O
4.000 (TRC)
000000000000000 VOOOOOO0O00000000000000 HO 000
000000000000 RIOO0 R2000000
50000 (TOR)
000000000000000000000000 VOOOOOOO00000000000
00000 RIOO0D0DO0000O0 R2000000000000000 (n: x/y/z=1/2/3)0
0000000000000000000 610000000 20000000000000
00000000061=0,00 §2=2xr 0000

0 1. 000000000000000000
oo do 0dooopooooooooog
RPP  # Xmin Xmax Ymin Ymax Zmin Zmax

SPH # Vx Vy Vz R

RCC # Vx Vy Vz Hx Hy Hz
R

TRC # Vx Vy Vz Hx Hy Hz
R1 R2

TOR # Vx Vy Vz R1 R2
01 02 n

1.2. 00000000

O0D0000ObedyDOODOOOOOODDODOOOODOOOOOOODODOODOS, —0O0O
OrRODOOOOO

+ 00000 body DODDODOO0OODOOOObedyOODODODOODODOOODOODOOODO-
00000 body O0O0D0DODOO0ODOODOObody O0D0D0ODOOO0D0OOO0OOO0OODOObodyOOOO
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0 2: Use of OR operator.
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2. 000000000 ucnaicgv.fO0O0

ucnaicgv.fO0 0CGOOO0OODOOOOO0OOODODOOOOOOCGOOOOOOOOOOD 40
gbooboooboboooo

21.CcGO00000

g3boboobbobbobboobbobbbooon

Outer vacuum (region 6)

Air region (region 5)

Al Cover (region 3)

Gap (region 2)

Nal (region 1)

1. 253MeV 5
Photon -5.6 -0.6-0.5 0.0 ' 7.52( 8.1213 "
Quarz window
(region 4)
0 3: ucnaicgv.fOO0DODOOO0O
oo0doooooooooooooooooon
RCC 1 0.00 0.0 0.0 0.00 0.0
7.62 3.81
RCC 2 0.00 0.0 -0.5 0.00 0.0
8.12 4.31
RCC 3 0.00 0.0 -0.6 0.00 0.0
8.72 4.41
RCC 4 0.00 0.0 7.62 0.00 0.0
0.5 4.31
RCC 5 0.00 0.0 -5.6 0.00 0.0
18.72 9.41
RCC 6 0.0 0.0 -10.0 0.0 0.0
30.0 12.0



Z1 +1
zZ2 +2 -1
Z3 +3 -2 -4
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yAS) +5 -3
26 +6 -5
END
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3. ggooouoogd

3.1. 00000000: Step 1

egshd OFortran D OO0 0O OO0O egshOD D DOUODDODDODODODODODDODOODUOOODLDOO
O0000000000dbubOD parameterJO00 00 Oinclude OO 0OODOOODODOODO
O00000000common0O0O0ODOODOODO includedODODOOODODOO

egshO0OODOOOD include 00000000 Oinclude/0 000000 egs0 000000 OO
pegscommons/J pegs 0000000 0000 auxcommons/D egsh 00000 D0O0OOODOOOOOO
goobobooobobobbooboobobboo oo bbb oobnooo
oooooooooor

O0000OMortran 000000000 ODODOOO0OO0ODOODODOOOD EGS4000000000
O000D000000Oegsh 00D 00D0OODOOOODODOOOODODODO Oinclude/egssh.£000
0000000 Oauxcommons/aux h.f 000 parameter 0000000000 DO0OO00O0

00000 OegsU0DOODODOO include 0000

implicit none

include ’include/egs5_h.f’ ! Main EGS "header" file

include ’include/egs5_bounds.f’
include ’include/egsb5_edge.f’

*OOOUOO0OO0O0Oegshrun DO OO0 00O egssrunbat 00000 OO



include ’include/egs5_media.f’
include ’include/egs5_misc.f’
include ’include/egsb_switches.f’
include ’include/egs5_uphiot.f’
include ’include/egs5_useful.f’
include ’include/randomm.f’

include ’include/egsbh.f2 0000000 DODOO0ODDOOD common 00000 includeO
00000000000 D0000D000000ooooooonf
ooooobobobooooboobobobO0ob0bobO0bbbO0oo000DO include 0O

include ’auxcommons/aux_h.f’ ! Auxiliary-code "header'" file

include ’auxcommons/edata.f’
include ’auxcommons/etalyl.f’
include ’auxcommons/instuf.f’
include ’auxcommons/lines.f’
include ’auxcommons/watch.f’

include ’auxcommons/geom_common.f’ ! geom-common file
integer irinn

000 include 00 OCGOODOOOOODOOCGODOOOODODODODODOOOOOOO
ooboobobooobbddl comoenJOUOOOODODO

common/totals/ ! Variables to score
* depe,deltae,spec(3,50) ,maxpict

real*8 depe,deltae,spec

integer maxpict

Uoo0bbo0obOo0b Dimplicit nene 000 0O0O0ODO0O0OOOODOOO0ODOOOOODOO
gobobbobooobobboooooon

000000 DO0ODO0O0Db0000 openDU0UegsbU0 Opegsh U0 LD ODOOOOOODODO
0000000 0ODDDpegs0 D UODDOOOOOOO 7260 0close 0 0D0OOOOODOOO
0000 openD000O0O0pegs D0 ODDODOD open OO0 0OOOODOODODOOODLOOOO
g7-26000000000000

open(6,FILE="egs5job.out’,STATUS=unknown’)
open(4,FILE="egs5job.inp’ ,STATUS="0l1d’)
open(39,FILE="egs5job.pic’,STATUS="unknown’)

goobo 390 oboooooobooboobod
O00000D0O00DO0O00D000DO0000000 countersout(0) O callD OO

'Egs40 cCOMINDOODODODOODOOOOO



32. 00000000: Step 2

00000000000 Characteristic Dimension D 000 0O 00 Opegss 0 call 00 Omedarr
0000000 240000000000000000002400000000000000000
0 24000 00 O Chracteristic Dimension 0 OO0 000000000000 O00OOOO0OOOO
O(lcmxlemx 1lemOOOOOOOO lem)00000O0O

call block_set ! Initialize some general variables

medarr(1)=’NAI
medarr(2)=’AL

medarr (3)=’QUARTZ
medarr(4)=’>AIR-AT-NTP

v v e e

do j=1,nmed

do i=1,24

media(i,j)=medarr(j)(i:i)

end do
end do
chard(1) = 3.81d0 ! automatic step-size control
chard(2) = 0.1d0
chard(3) = 0.5d0
chard(4) = 5.0d0

write(6,fmt="(’chard =’,5e12.5)") (chard(j),j=1,nmed)

write(6,100)
100  FORMAT(’PEGS5-call comes next’/)

33.00000000: Step 3

00000000 obooobb0bo0bbnprecii0OobbbOO0DbOObDODDODnO
000000000 30000000000000O0000OODO0CGOO0O0OODODO0 ¢c6 datad
00000000 CGLOO0DO0OUDOOUDO0OOegDOODOOOUDODOOOO (ODDOUO6)OO
0000000000 00000 geomgt 0 callOODDOO0ODOOCGOOOOODOODOODO End
of CGdatalJUIDOODLODUOOO0ODOODLUOOOODLO0ODLODLDOODLODbDODbLOODODOO
ifto0 0390 0000000PICTUOOOOOOOODOOOD (CSTA-FREELD O OCSTA)OD O OO O
00 subroutine geomgt 000 CGUOOOODODOOOO0O0OOOOOOODODODO CGOOOO
goboodbogcendddnooubooobibdbegi000O0O0O0O0OODLDODDO nregd
googo

cGO00DOO00D0ODOODOOO0ODO000ODOODOODbOOOO0ODODODOO



write(6,*) ’Read cg-related data’

npreci=3 ! PICT data mode for CGView in free format
ifti = 4 ! Input unit number for cg-data
ifto = 39 ! Output unit number for PICT

write(6,fmt="(’ CG data’)")
call geomgt(ifti,6) ! Read in CG data
write(6,fmt="(’ End of CG data’,/)")

if (npreci.eq.3) write(ifto,fmt="(’CSTA-FREE-TIME’)")
if (npreci.eq.2) write(ifto,fmt="(’CSTA-TIME’)")

rewind ifti

call geomgt(ifti,ifto)! Dummy call to write geom info for ifto
write(ifto,110)

FORMAT (° CEND’)

nreg=izonin

dodooboooocGoOooooooopoooodopDooooooDOoDooooooDoooon
egs 10D 00D0O0ODODODDODODODODOODODOODOODODDODOOOODDOOOODOOOOODDOO
XOoooooooo

Ranlux 000000 inseedd 00000 O0O0O0O0OO0O

120

Read material for each refion from egsbjob.data

read(4,*) (med(i),i=1,nreg)

Set option except vacuum region

do 1=2,nreg-2
if(med(i) .ne.0) then

iphter(i) = 1 ! Switches for PE-angle sampling
iedgfl(i) = 1 ! K & L-edge fluorescence
iauger(i) = 0 ! K & L-Auger
iraylr(i) = 0 ! Rayleigh scattering
lpolar(i) = 0O ! Linearly-polarized photon scattering
incohr(i) = 0 ! S/Z rejection
iprofr(i) = 0 ! Doppler broadening
impacr(i) = 0 ! Electron impact ionization
end if
end do

Random number seeds. Must be defined before call hatch
or defaults will be used. inseed (1- 2731)
luxlev = 1
inseed=1
write(6,120) inseed
FORMAT(/,’ inseed=’,I12,5X,
> (seed for generating unique sequences of Ranlux)’)

call rluxinit ! Initialize the Ranlux random-number generator



34.00000000: Step 4

00000000000 000000000000000000000 (1.283MeV)D DOO0OO
000000000000 0DO0O000 CGOOO0DOD0O000O4irin=00000000000 irin
ggoboobbobobbooboooobbobooobbbobuodbobO0birin=0000
00000 irin0 CGODOOOOOODOOOOOOOOODOO

! Define initial variables for incident particle normally incident
! on the slab

iqin=0 ! Incident particle charge - photons
ekein=1.253 ! Incident particle kinetic energy

xin=0.0 ! Source position

yin=0.0

zin=-5.0

uin=0.0 ! Moving along z axis

vin=0.0

win=1.0

irin=0 ! Starting region (0: Automatic search in CG)
wtin=1.0 ! Weight = 1 since no variance reduction used

! pdf data for many source
deltae=0.05 ! Energy bin of response

if(irin.le.0.or.irin.gt.nreg) then
call srzone(xin,yin,zin,iqin+2,0,irin)
if(irin.le.0.or.irin.ge.nreg) then

write(6,fmt="(’ Stopped in MAIN. irin = ’,iB5)")irin
stop
end if
call rstnxt(iqin+2,0,irin)
end if

35.00000000: Step b

pegs 000D 0OD0DDO0DO0O0OOOODOODODOODOOOODODOOOD emaxel hatchOOOO
000 Oemaxe 0000 OO Osubroutine hatchO DD Demaxe 0 0O OO0O0OO0OO0O0OOOOO O
000odooOoOoOoooOoO0o0oO0000boooOo0bD000o0ooO0b0O0ddORatchO 00000
dddbodobOOo0o0oobooooobo0ooooooOOooooooboOoobOoooOooa

emaxe = 0.D0 ! dummy value to extract min(UE,UP+RM).

write(6,130)
130  format(/’ Call hatch to get cross-section data’)

open(UNIT=KMPI,FILE=’pgs5job.pegsbdat’,STATUS="01ld’)
open(UNIT=KMPO,FILE=’egs5job.dummy’,STATUS="unknown’)

write(6,140)
140  FORMAT(/,’ HATCH-call comes next’,/)



36. 00000000: Step 6

gogoobobobobobboobooobobbobobboobooboobobobobooo o
gbobododob o cgoboooobbobbbboobbbboboobbbboog

3.7.00000000: Step 7

ausgabJ 0000000000000 OO0OOO0OOOOO0OOOOOOOO (b0)D0ODOOOoOO
NcasesO OO UODUODOUOD UOmaxpict0 0O 0O0OO0ODOOOOODOODOODDOOO

! Energy bin width
deltae=ekein / 50

! Zero the variables
depe=0.D0
pefs=0.D0
pef2s=0.D0
tefs=0.D0
tef2S=0.DO
do j=1,50
phs(j)=0.DO
ph2s(j)=0.DO
do ntype=1,3
spec(ntype, j)=0.D0
specs(ntype, j)=0.D0
spec2s(ntype,j)=0.DO0
end do
end do

! Set histories
ncases=10000

! Set maximum number for pict
maxpict=50

38. 00000000: Step 8

000000000000 doooO00O00dd Oncasesd 0000000 subroutine shower U
callJD 000 DOO0ODODOO0O0OO0O0DOODODODOO0O0O0000O0DDOO0O0OO00OOoOOooOoOoOoOooOOO
00000 emaxe D00 O000O0O0D0OO0O0O0DOOOOOODOONIOODOOOOOOODOODO
0000000000000 0000000D0O00000D wtinOOOOOOOOOOOOOO
00099.9%0000000000000000 wtinO OO O0DOO0O0O0OD0OOOO0ODOOOOOOO
000000000000 000 wtinOOOODODOOOODODODODOODODOO0O0OO0OOOOODODOOOd
o00dooooooDoOooo0ooooooooooooa

! Write batch number
write(39,fmt="(’0 12)")

do i=1,ncases ! Start of shower call-loop

wtin = 1.0
wtsum = wtsum + wtin ! Keep running sum of weights
etot = ekein + iabs(iqin)*RM ! Incident total energy (MeV)

10



Available K.E. (MeV) in system
for positron

if(iqin.eq.1) then
availke = ekein + 2.0*RM

else Available K.E. (MeV) in system
availke = ekein for photon and electron

end if

totke = totke + availke ! Keep running sum of KE

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(6,280) etot,xin,yin,zin,uin,vin,win,iqin,irin,idin
FORMAT(7G15.7,315)

end if

if (etot+(1-iabs(iqin))*RM.gt.emaxe) then
write(6,fmt="(’ Stopped in MAIN.’,
> (Incident kinetic energy + RM) > min(UE,UP+RM).’)")
stop

end if

if (abs(uin*uint+vin*vin+win*win-1.0) .gt.1.e-6) then
write(6,fmt="(’ Following source direction cosines are not’,
>’ normarized.’,3e12.5)")uin,vin,win

If some energy is deposited inside detector add pulse-height
and efficiency.

if (depe .gt. 0.DO) then
ie=depe/deltae + 1
if (ie .gt. 50) 1ie = 50
phs(ie)=phs(ie)+wtin
ph2s(ie)=ph2s(ie)+wtin*wtin
tefs=tefs + wtin
tef2s=tef2s + wtin*wtin
if(depe .ge. ekein*0.999) then
pefs=pefs +wtin
pef2s=pef2s +wtin
end if
depe = 0.DO
end if
do ntype=1,3
do ie=1,50
specs(ntype,ie)=specs(ntype,ie)+spec(ntype,ie)
spec2s(ntype,ie)=spec2s(ntype,ie)+
spec(ntype,ie)*spec(ntype,ie)

11



spec(ntype,ie)=0.D0

end do
end do
ncount = ncount + 1 ! Count total number of actual cases
! _______________________
end do ! End of CALL SHOWER loop

call plotxyz(99,0,0,0.D0,0.D00,0.D0,0.D0,0,0.D0,0.D0)

write(39,fmt="(29’)") ! Set end of batch for CG View

3.8.1. ODO0OO: O0000OO0OO0OO0OO0OO0OO0OC0ODOOOOOODOODOOOOODOOOOODO
UooboobooobbbboobbbObDDuenaicgv.f00 000000 MCNPODODODOO
gooooboboooboogd

e JOUOUDOO NDOUODO

z 0100000000000 0000

o x 00O OOODOO:

LN
=1
e x; 000D O0OOOOOOONO:
1 U — — 1
I PR IR <x2—ﬁ;x?> 2)
ez 0O0OOOO
1 1 —
sfzﬁszzﬁ[ﬁ—fﬂ (3)
oggooad
e OO OOOOMO
1
o~ [ (2 _ w2Y]1/2 4
o [ (07— 7] (1

googod

gbooodooobobbboboooooboooboboo

39. 00000000: Step 9

ggooboobooobobobooboboboboobobobooobobuoboooboobobobon
goobobooobooobobobbbooooboboouoobooboooboa
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pef2s=pef2s/ncount
sigpe=dsqrt ((pef2s-avpe*avpe)/ncount)
avpe = avpe*100.0
sigpe = sigpe*100.0
write(6,350) avpe,sigpe
350 FORMAT(® Peak efficiency =’,G11.4,°+-’,G9.2,’ }’)

avte = tefs/ncount
tef2s = tef2s/ncount
sigte = dsqrt((tef2s-avtexavte)/ncount)
avte = avtex100.0
sigte = sigtex100.0
write(6,360) avte,sigte
360 FORMAT(’> Total efficiency =’,G11.4,°+-’,G9.2,’ %)

write(6,370)
370  FORMAT(/’ Pulse height distribution ’)
do ie=1,50
elow=deltaex(ie-1)
eup=deltaex*ie

avph = phs(ie)/ncount

ph2s(ie)=ph2s(ie)/ncount

sigph=dsqrt ({ph2s(ie)-avph*avph)/ncount)

avph = avph/deltae

sigph= sigph/deltae

write(6,380) eup,avph,sigph

380 FORMAT(’ E (upper-edge --’,G10.4,’ MeV )=’,G15.5,’+-’,G15.5,
* ’ counts/MeV/incident’);

end do

Oo0ooooouod NalODOOOooooooooboobooboobuoobobuoboboo
googd

3.10. Subroutine ausgab

AuscABO OO DOUODOO0OU0U0obOobOoobobbbbbbOobUoOoOoobbDobDUbDbDUoOobo
O00Oinclude 000 0D0O00OO0OOODOODODODODOO

iarg<5000000DOODODODDODODODOOOOUODOODDOODOD

00000 1(Na)D0OO0D0O0000000000000000000O0O0O0DO0DbLOOoOLOOUOOO
goobooobobogooboooooooooboooooooobLoboooubbbooOoo
goobobooboboooooooogboobobobDobUobDb wehbOOoDbboo OO
O maxpict 00000000000 0O0ODODODOODO plotxyzU callOOO

! Set some local variables
Il e -

ir(np)
iql = iq(np)
edepwt = edep*wt(np)

! Keep track of energy deposition (for conservation purposes)

13



if (iarg .1t. 5) then
esum(iql+2,irl,iarg+1)
nsum(iql+2,irl,iarg+1)
end if

esum(iql+2,irl,iarg+1) + edepwt
nsum(iql+2,irl,iarg+1l) + 1

if (med(irl). eq. 1) then
depe = depe + edepwt

if (irl .ne. irold .and. iarg .eq. 0) then
if (iql .eq. 0) then ! photon
ntype=1
ie = e(np)/deltae +1
if(ie .gt. 50) ie = 50
elseif (iql .eq. -1) then ! electron
ntype=2
ie = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
else ! positron
ntype=3
ie = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
end if
spec(ntype,ie) = spec(ntype,ie) + wt(np)
end if
end if

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(6,100) e(np),x(np),y(np),z(up),ulnp),vinp),wlnp),
* iql,irl,iarg
100 FORMAT(7G15.7,315)
end if

if (ncount.le.maxpict) then
call plotxyz(iarg,np,iq(ap),x(np),y(np),z(np),e(np),ir(np),
* wt (np) ,time(np))
end if
return

end

14



3.11. Subroutine howfar

CGOUODODUODOD0ODOOOOnO howfarOOOODODOOOODOOO

00000000 howfar 0000000 Ohowfar0 000000000 O0ODOODOOOODOO
gogobbooobobooooboobooboobooboobobooooooboobooooobobboo
gogbobobobooobboooooooobboboboboooobobbg

O0000DOhowfar OO OO0D0O0O00ODOO0O0DODOOODODOO0O (didisc=1) 0000 OD0OO0O
ggobobooopoboobooboobobobbobobobboobooon

4. ucnai.f 0 ucnaicgv. f 00000000

00000000000 000D0D0cg0DODDO00DOD0D0ODDODODODODODDODO howfarO
0000000000000 0D000D000D0D0O0D0O0ODO0000000D000OOo0oooDoOO
0000000 ucnai.fO uenaicgv.f D0 000000000000 DOuwenaif000 1600000
00000ooooooof

15



5. oo

51. D00ODDOONaIODDOOODO
goooboogoboobbobbooboobbobbobobog

1.0000Cs-1370000000000 (0.662MeV)0 00O OO
2.0000Co-6000001.173MeVDO 1.333MeVO 0000000 ODDOOO0O
3.1.253MeVO 000000000 (Z-00)00000000O0O0O0OOLOODUOOODDOOOOOUODOO
4.1.253MeV 000000 DOODOOOODODODOODOO 20000

52. 000000Ge0D0O0O0O0O

00000Ge00D0O0OO0ODODODODOO NalDODO1.253MeVOOOOOOOOODOOODOOOO
goooond

53. 000bOobobobOobbOobb

0000020°010000000001.253MeVO0000000O0DOO0OOOOOOOOOOOO
0000000000003000000 30000000000000000005mm0O AlOO
000000D0AID000O0O000D 5emO00000000000

000 WO (33.97¢V/pair) 000D 00000 1000000000000O0 (Coulomb/source)
000000000001.602x 1071 C/fe000O0O
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6. UDOOoooooO

000000 Qucnaicgv.f00000000000O0O0O0O 10000000000 (egsbjob.out)
0000000000 (D00Onai.out)000000O0OO

6.1. 00000

1.Cs-137 00

e cp ucnaicgv.f ucnaicgvl.f
OODOUNIXOD CygwinODOOODOODOSOODOOO
copy ucnaicgv.f ucnaicgvl.f
OO0D0OWindowsOOOOOOOODOOODODOOOODOOODOOO

e cp ucnaicgv.data ucnaicgvl.data
e cp ucnaicgv.inp ucnaicgvl.inp
eucnaicgvl. 00000 OO0OODOONO

— ucnaicgvl.f 00

ekein=1.253 ! Incident particle kinetic energy
g

ekein=0.662 ! Incident particle kinetic energy
googoo

eucnaicgvl.f 0 egsSrun 00 0000

— Linux 00 Cygwin 00O
0000000000 0ODOucnaicgv1i O0,0000 4000000 250000000
0000000 O0o0oOoDoOoooooo
”Does this user code read from the terminal?”’0 00 0 1000000

- DbOSO0O0O

egsbrun ucnaicgvl

— ucnaicgvi 00 Oegshrun.bat 0 000 D00 000000000000 O00O0O00O0OO
Ooo0ooDoobOO0oboOo0ooooooooboshooOobobOOoOoboOoooOOonond
/0000¥J000000000000000000

e 000000 DOO Oegsbjob.out0 00 01.253MeVODOOODODODOODOOOODODODODOO
gboobooobooobobobboboooooobooog

ooooooad
00000 (Per) OO0 (Tep)
ucnaicgv  37.6 £ 0.5 % 76.2 + 0.4 %
ucnaicgvl  60.3 + 0.5 % 87.5 £ 0.3 %

gbobooooobobbboboooobbooobbbooobbooooboboooon
gooboooogoboog

2. Co-60 source
e cp ucnaicgv.f ucnaicgv2.f

e cp ucnaicgv.data ucnaicgv2.data
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e cp ucnaicgv.inp ucnaicgv2.inp
eucnaicgv2.f 0000 OOOOOOO
- oboopoooood

ekein=1.253 ! Incident particle kinetic energy
g

ekein=1.333 ! Incident particle kinetic energy
googoo

- goboboooobobobod

call randomset(rnnow)
if(rnnow.le.0.5) then
ekein=1.173
else
ekein=1.333
end if

gogoogg
- Jgboboboooooo

write(6,340) ekein
340  FORMAT(’ Results for ’,G15.5,’MeV photon’/)

O

write(6,340)
340  FORMAT(’ Results for Co-60 gamma-ray (1.173 and 1.333 MeV)’/)

oopoooo
e ucnaicgv2.f 0 egshrun0 0000 O

— Linux 00 Cygwin 00O
0000000000 0ODOucnaicgv20, 0000 4000000 250000000
0000000 O0o0oOoDoOoooooo
”Does this user code read from the terminal?”’0 00 0 1000000

- DbOSO0O0O

egsbrun ucnaicgv2

e 000000 DOO Oegsbjob.out0 00 T1.253MeVIO DO OODODOOODOODOO 200
goboobobbbobobboooooooooboo

3.0000
e cp ucnaicgv.f ucnaicgv3.f
e cp ucnaicgv.data ucnaicgv3.data
e cp ucnaicgv.inp ucnaicgv3.inp
eucnaicgv3.f00U00O0OO0OOOOO
- 2z0000000000OO0DODODO0O0OOO0O0O0ODO



275 call randomset(rnnow)
ziO=rnnow
call randomset(rnnow)
xi0=2.0*rnnow-1.0
call randomset(rnnow)
yi0=2.0*rnnow-1.0
rrO0=dsqrt (xiO*xiO+yiO*yiO+zi0*z1i0)
if(rr0.gt.1.0) go to 275

win = zi0/rr0
uin = xi0/rr0
vin = yiO/rr0

oogo
e ucnaicgv3.fU egsSrun 0O OO OO

— Linux 00 Cygwin 00O
0000000000 0ODOucnaicgv30,0000 4000000 250000000
0000000 O0o0oOoDoOoooooo
”Does this user code read from the terminal?”’0 00 0 1000000

- DbOSO0O0O

egsbrun ucnaicgv3

e 00000000CGviewOd”0000000DODOOOOO”O Oegsbjob.picO0OO0 OO
gooobobooobooobbood

ecgshjobout 00000 O00D0OO0OODOODODODOODODOODO
O000: Peg=3.6 £ 0.2 %, Teg=9.3 £ 0.3 %

4.00 200 Nal

e cp ucnaicgv.f ucnaicgvéd.f

e cp ucnaicgv.data ucnaicgv4.data
e cp ucnaicgv.inp ucnaicgv4.inp
eucnaicgvd fOO0DOO0OO00OOODOO

- 00D00000ogo
tdet=7.62

tdet=7.62%2.0
goooon

- 0000000000 000OooobD0ooooocGoOooooooocGOoooan
gboobobooooooobooboboooobbooobbbooobooog
0000000000 0000000D00 Qucnaicgvd.datal OO0

eucnaicgvd.datal 000 ODOOOOOMO

RCC 1 0.00 0.0 0.0 0.00 0.
15.24 3.81

RCC 2 0.00 0.0 -0.5 0.00 0.
15.74 4.31

RCC 3 0.00 0.0 -0.6 0.00 0.

0

0

0



Outer vacuum (region 6)
Air region (region 5)
Al Cover (region 3)
Gap (region 2)
Nal (region 1)
1. 253MeV 15. 74 5
Photon -5.6 -0.6-0.5 0.0 15.24 20.74
Quarz window
(region 4)
O 4: Geometry of ucnaicgv4.f90
16.34 4.41
RCC 4 0.00 0.0 15.24 0.00 0.
0.5 4.31
RCC 5 0.00 0.0 -5.6 0.00 0.
26.34 9.41
RCC 6 0.0 0.0 -10.0 0.0 0.
36.74 12.0
END
Z1 +1
72 +2 -1
Z3 +3 -2 -4
Z4 +4
Z5 +5 -3
76 +6 -5
END

1 0 2 3 4 0

o D U ucnaicgvd.data U0 OO O ODODO

- CGviewO”000000O0P000D00O00O0O0ODOOO
- 000000000 D”’0000000D0700 Ducnaicgvd.datal0 00000
- 000000 000000000D0D0OD00D00oDOO0
- ’007’070000007000000
e ucnaicgv4d.f 0 egshrun 0 0000 O

— Linux 00 Cygwin 00O
0000000000 0ODucnaicgv4a 0, 0000 4000000 250000000

20
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6.2.

O R

O000ooooooboooooon
”Does this user code read from the terminal?’0 000 1000000

- DOSO0OO

egsbrun ucnaicgv4d

e 0000000 0OCGviewD”000000000D0O0OO”O Oegshjob.picOODOO OO
gobob0o 20000b0o0boooobod

ecgshjob.out 000 DODOO00ODODODODOODOODO
O0000: Peg=55.1 + 0.5%, Teg=94.3 + 0.2 %

goood

. cp ucnaicgv.f ucnaicgvb.f

. Ccp ucnaicgv.data ucnaicgvb.data
. Cp ucnaicgv.inp ucnaicgvb.inp
.ucnaicgvb fO00000000O0O00O0O

e 10000

medarr(1)=’NAI ’

medarr(1)="GE ’

000000000 medarr00000000240000000000000000O00

. ucnaicgvb.inp 0 OO

COMP

&INP NE=2,RH0=3.67, PZ=1,1,IRAYL=1 /END
NAI NAI

NA I

(]

ELEM

&INP IRAYL=1 /END

GE GE
GE

O000000(100200GE0OOOOO 310000000000 DOOOOOO)

6. ucnaicgvhb.f 0 egshrun0 0 000 O

e Linux 00O Cygwin 00O

00000000000 Oucnaicgvs 0,0000 4000000 25000000000
00000 o0ooooooooog

”Does this user code read from the terminal?”’0 OO0 0 1000000

e DOSODOO

egsbrun ucnaicgvb

7.00000000Oegshjobout0000ONalOD0OO0OOOOO

O000: Peg=41.1 £ 0.5 %, Teg=88.1 +£ 0.3 %
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O R

.0ooog

. cp ucnaicgv.f ucioncgv.f

. cp ucnaicgv.data ucioncgv.data

. Cp ucnaicgv.inp ucioncgv.inp
.ucioncgv.f000O0O0O0OOO0OOOO

el DOODDODOOODOODDOODLDOO

* xi0,y10,zi0

* x10,y10,zi0,avab,depes,depe2s,sigab

gogd
eJDOODDODDDO

character*24 medarr(4)

O
character*24 medarr(2)
o,
nmed=4
O
nmed=2
good

eJDOOOODO

medarr(1)=’NAI
medarr(2)=’AL

medarr (3)=’QUARTZ
medarr(4)=’>AIR-AT-NTP

v v e e

O
medarr(1)=’>AIR-AT-NTP ’
medarr(2)=’AL ’
ogoong

e 000D0D0DOO0DODODOODODODOOO chardODOODODOO

chard(3) = 0.5d0
chard(4) = 5.0d40
ooogo

eJIDDODOO

! Zero the variables
depe=0.D0
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! Zero the variables
depe=0.D0
depes=0.D0
depe2s=0.D0

god
eI DOOODO 100,000 00OOO

! Set histories
ncases=10000

O o

! Set histories
ncases=100000

gooogno

eJ00IDDDOODLDODODLOOODLOODLDODDO

if (depe .gt. 0.DO) then
ie=depe/deltae + 1

g
if (depe .gt. 0.DO) then
depes=depes+depe
depe2s=depe2s+depe*depe
ie=depe/deltae + 1
god

eJJDDOU0ODUOOOODLOODOODLOODDODLODOODOODODOOO

tdet=7.62

rdet=3.81

tcov=0.1

rtcov=0.1

tgap=0.5

rtgap=0.5

write(6,330) tdet,rdet,tcov,rtcov,tgap,rtgap
330  FORMAT(/’ Detector length=’,G15.5,’ cm’/
> Detector radius=’,G15.5,’ cm’/
> Al cover thickness=’,G10.2,’ cm’/
> Al cover side thickness=’,G10.2,’ cm’/
> Front gap =’,G10.2,’ cm’/’ Side gap =’,G10.2,’ cm’/)

* ¥ ¥ ¥

tdet=7.62
rdet=3.81
tcov=0.5
rtcov=0.5
write(6,330) tdet,rdet,tcov,rtcov
330  FORMAT(/’ Detector length=’,G15.5,’ cm’/

* > Detector radius=’,G15.5,’ cm’/

* > Al cover thickness=’,G10.2,’ cm’/

* > Al cover side thickness=’,G10.2,’ cm’/)
oo0ooooag

eJJ00D0D0OD0OO0ODODOODLDOOOODODOODLOUOUUOUDLDDOODOODDOODOOO
goboopooboobogoobg
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avab = depes/ncount
depe2s = depe2s/ncount
sigab = sqrt((depe2s - avab*avab)/ncount)
write(6,362) avab,sigab
362  FORMAT(’ Absorbed energy in air =’,G10.3,°+-7,G9.2,’ MeV/photon’)
avab = avab /33.97D-6 #*1.602D-19
sigab= sigab /33.97D-6 *1.602D-19
write(6,364) avab,sigab
364  FORMAT(’ Output current =’,G10.3,°+-’,G9.2,’ C/photon’)

write(6,370)
oooooa
R
A
Outer vacuum (region 4)
Air region (region 3)
Al Cover (region 2)
Air (region 1)

1. 253MeV 13.12 .
Photon -5.5-0.50.0 7.62 8.12

O 5: Geometry of ucioncgv.f

5.ucioncgv.data00 0000000000
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RCC

RCC

RCC

RCC

END
Z1
zZ2
Z3
zZ4
END
1

-

N

+1
+2
+3
+4

2 1

OO WO WO ~NO

00 0.0
62 3.81
00 0.0
62 4.31
00 0.0
62 9.31
00 0.0
62 10.31
-1

-2

-3

0

6.ucioncgv.inpU 0000000 O0DOO0O

MIXT

0.

-0.

-5.

-6.

0 0.00 0.0
5 0.00 0.0
5 0.00 0.0
0 0.00 0.0

&INP NE=3,RHO= 1.2929E-03,RH0Z= 0.755,0.232,0.013,
GASP=0.93174, IRAYL=1 /END
ATR-AT-NTP

N O
ENER
&INP
PWLF
&INP
DECK
&INP
ELEM
&INP
AL

AL

ENER
&INP
PWLF
&INP
DECK
&INP

AR

ATR-GAS

AE=0.521,AP=0.010,UE=2.511,UP=2.0 /END

/END
/END

IRAYL=1 /END

AL

AE=0.521,AP=0.010,UE=2.511,UP=2.0 /END

/END

/END

7. ucioncgv.f 0 egsbrun 0O 0000

e Linux 00O Cygwin 00O
O0D0O00O0D0OD0O0O0ODOucionegv 0, 0000 4000000 250000000000
000000oooooooo
”Does this user code read from the terminal?”’0 OO0 0 1000000

e DOSODOO

egsbrun ucioncgv

8.0000D00D00D0CGviewd00D0I0OOODODDODOOODODODO Oegshjob.pic0O OO OO0
ooobod NalOOOoboooooooboogoo
9.egshjob.out 000 D00ODO0ODOODOOO0OOOODOODODOOODODOODODODOODODOODODOO

googoood

00000 Peg (%)
000 Teg (%)

0000000 (MeV/y)

0o (C/y)

0.0

1.4 4 0.4e-1
0.26e-3 £ 0.9e-5
0.12e-17 4= 0.4e-19
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Appendix 1 Full listings of ucnaicgv.f

Dok sk ok ook ok ke ok ok ok ook ok sk ok kb ke ook ook s ok ok ke ke ok sk ok ok ok ok ok ok sk ok sk okok sk ok ok sk ok sk ok ok sk ok sk skok ok sk ok ko ok ok ook ok ok ok ok
Ddoskoskskokkokkokok kb kokokokokkok ek ok okkokkok - KEK, High Energy Accelerator Research *
Dok sk ok ok ok ok ke ok ok ok ok ok ok sk ok okok ok ok ook ok ok ok ook ok Organlzatlon *
%% 1 cnaic¢ g Vo okckockokokokckkok %
Dok sk ok ok ok ok ke ok ok ok ok ok ok sk ok okok ok ok ook sk ok ok ook ok EGS5.0 USER CODE - 11 Aug 2009/1430 #
sk sk ke ook ok ke ok ok ok ook ok sk ok kb ke ook ook s ok ok kb ook ok ok ok sk ok ok sk ok sk skok sk ke ok sk ok sk ok ok ok ok sk skok ok sk ok ko ok ok ook ok ok ok ok

'+ This is a general User Code based on the cg geometry scheme. *
0 ok ok sk sk sk o o o ok ok sk sk sk o o o sk sk o o ok sk ok o ok sk sk ok o ok sk sk sk o o ok sk sk ok o ook ok 3k o ok sk o o ok sk o o ok ko o o ok ok ok o ok

! *
! PROGRAMMERS: H. Hirayama *
! Applied Research Laboratory *
! KEK, High Energy Accelerator Research Organization *
! 1-1, Oho, Tsukuba, Ibaraki, 305-0801 *
! Japan *
! *
! E-mail: hideo.hirayama@kek. jp *
! Telephone: +81-29-864-5451 *
! Fax: +81-29-864-4051 *
! *
! Y. Namito *
! Radiation Science Center *
! Applied Research Laboratory *
! KEK, High Energy Accelerator Research Organization *
! 1-1, Oho, Tsukuba, Ibaraki, 305-0801 *
! Japan *
! *
! E-mail: yoshihito.namito@kek. jp *
! Telephone: +81-29-864-5489 *
! Fax: +81-29-864-1993 *
! *

0 ok ok sk sk ok o o o ok ok sk sk ok o o o sk sk o o ok sk ok o ok sk sk ok o ok sk sk sk o o ok sk sk ok o ok sk sk o ok ok sk o o ok stk o o o koo o o ok ok o o ok

0 ok ok sk sk oo o o ok ok sk sk ok o o ook sk ok o ok sk ok o ok sk sk ok o ok sk sk sk o o ok sk sk ok o ks sk o ok ok sk o o ok stk o o o ko o o ko ok ok ok

! The ucnaicgv f User Code requires a cg-input file only

(e.g., ucnaicgv.data).

The following shows the geometry for ucnaicg.data.
Eut data for CG geometry must be written at the top of data-input
ile toiether with material assignment to each region. Cg-data can

be checked by CGview.

This user code corresponds to ucnai3cgp.mor for egs4.

Use Ranlux random number generator.

ko ook b ook K KRR R ok s ok ok K K ko

*

R
I
B s aat ot +————— +——=
I
| Outer vacuum region
+ e +————— +———— + R=9.41
Air [
o + + R=4.41
| Al cover |
+ + F—————— +———+ + R=4.31
| | | Gap [ I
+ + + + +————— + + + R=3.81
| | | |Quartz |
I I | NaI | | I
1.253 MeV | | I I I I
—_——======——=—=—=2>-——+-——+——+——————— +——t e ——————— > Z
photons -5.6 -0.6 -0.5 0.0 7.62 8.12 13.12
-5.0

HOR K KK KK KK KKK KK KR KRR KR KR KRR KK KK KR KK R

i
1 sk sk ok sk ok sk ok sk ok sk ok sk ok sk ook o ook o sk ok sk ok o o ok sk ok sk ok o ok sk sk ok ok ok sk ook sk ok o ok ok ok ok ok ook ok ok ok ok
123456789 123456789 123456789 123456789 | 123456789| 123456789 12345678912

implicit none
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include ’include/egs5_h.f’ ! Main EGS '"header" file

include ’include/egs5_bounds.f’
include ’include/egs5_brempr.f’
include ’include/egsb5_edge.f’
include ’include/egs5_media.f’
include ’include/egs5_misc.f’
include ’include/egs5_thresh.f’
include ’include/egs5_uphiot.f’
include ’include/egs5_useful.f’
include ’include/egs5_usersc.f’
include ’include/egs5_userxt.f’
include ’include/randomm.f’

include ’auxcommons/aux_h.f’ ! Auxiliary-code '"header'" file

include ’auxcommons/edata.f’
include ’auxcommons/etalyl.f’
include ’auxcommons/instuf.f’
include ’auxcommons/lines.f’
include ’auxcommons/nfac.f’

include ’auxcommons/watch.f’

include ’auxcommons/geom_common.f’ ! geom-common file
integer irinn

common/totals/ ! Variables to score
* depe,deltae,spec(3,50),maxpict

real*8 depe,deltae,spec

integer maxpict

Pkkkx real*8 ! Arguments

real*8 totke
real*8 rnnow,etot
real*8 esumt

real*8 ! Local variables
* availke,avpe,avph,avspe,avspg,avspp,avte,desci2,pefs,pefls,

* rrO,sigpe,sigte,sigph,sigspg,sigspe,sigspp,tefs,tef2s,wtin,wtsum,
* xi10,y10,z10

real*8
* phs(50),ph2s(50),specs(3,50),spec2s(3,50)

real ! Local variables
* elow,eup,rdet,rtcov,rtgap,tcov,tdet,tgap

real
* tarray(2),tt,tt0,ttl,cputime,etime

integer
* j,icases,idin,je,ifti,ifto,ii,iiz,imed,ireg,isam,
* izn,nlist,j,k,n,ner,ntype

character*24 medarr(4)

Units 7-26 are used in pegs and closed. It is better not
to use as output file. If they are used, they must be opened
after getcg etc. Unit for pict must be 39.

open(6,FILE="egsb5job.out’,STATUS="unknown’)
open(4,FILE="egs5job.inp’,STATUS="01ld’)
open(39,FILE="egs5job.pic’,STATUS=unknown’)
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call counters_out(0)

call block_set ! Initialize some general variables

medarr(1)="NAI
medarr(2)=’AL
medarr(3)="QUARTZ
medarr(4)=’AIR-AT-NTP

do j=1,nmed

do i=1,24

media(i,j)=medarr(j)(i:1i)

end do
end do
chard(1) = 7.62d0 ! automatic step-size control
chard(2) = 0.1d0
chard(3) = 0.5d0
chard(4) = 5.0d0

write(6,fmt="(’chard =’,5e12.5)") (chard(j),j=1,nmed)

write(8,100)
100 FORMAT (’PEGS5-call comes next’/)

npreci=3 ! PICT data mode for CGView in free format
ifti = 4 ! Input unit number for cg—data
ifto = 39 ! Output unit number for PICT

write(8,fmt="(’ CG data’)")
call geomgt(ifti,6) ! Read in CG data
write(8,fmt="(’ End of CG data’,/)")

if (npreci.eq.3) write(ifto,fmt="(’CSTA-FREE-TIME’)")
if (npreci.eq.2) write(ifto,fmt="(’CSTA-TIME’)")

rewind ifti
call geomgt(ifti,ifto)! Dummy call to write geom info for ifto

write(ifto,110)
110 FORMAT(’CEND’)

nreg=izonin
! Read material for each refion from egs5job.data
read(4,*) (med(i),i=1,nreg)

! Set option except vacuum region
do 1=1,nreg-1
if(med(i).ne.0) then
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iphter(i) =1 ! Switches for PE-angle sampling
iedgfl(i) =1 ! K & L-edge fluorescence
iauger(i) = 0 ! K & L-Auger
iraylr(i) = 0 ! Rayleigh scattering
lpolar(i) = 0 ! Linearly-polarized photon scattering
incohr(i) = 0 ! S/Z rejection
iprofr(i) = 0 ! Doppler broadening
impacr(i) = 0 ! Electron impact ionization
end 1if
end do

Random number seeds. Must be defined before call hatch
or defaults will be used. inseed (1- 2731)

luxlev = 1

inseed=1

write(6,120) inseed

120  FORMAT(/,’ inseed=’,I12,5X,

* > (seed for generating unique sequences of Ranlux)’)

call rluxinit ! Initialize the Ranlux random-number generator

Define initial variables for incident particle normally incident
on the slab

iqin=0 ! Incident particle charge - photons
ekein=1.263 ! Incident particle kinetic energy

xin=0.0 ! Source position

yin=0.0

zin=-5.0

uin=0.0 ! Moving along z axis

vin=0.0

win=1.0

irin=0 ! Starting region (0: Automatic search in CG)
wtin=1.0 ! Weight = 1 since no variance reduction used

pdf data for many source
deltae=0.05 ! Energy bin of response

if(irin.le.0.or.irin.gt.nreg) then
call srzone(xin,yin,zin,iqin+2,0,irin)
if(irin.le.0.or.irin.ge.nreg) then

write(6,fmt="(’ Stopped in MAIN. irin = ’,i5)")irin
stop
end if
call rstnxt(iqin+2,0,irin)
end if

emaxe = 0.D0 ! dummy value to extract min(UE,UP+RM).

write(8,130)

130  format(/’ Call hatch to get cross—section data’)

open(UNIT=KMPI,FILE="pgs5job.pegsbdat’,STATUS="01ld’)
open(UNIT=KMPO,FILE="egs5job.dummy’ ,STATUS=unknown’)

write(8, 140)

140  FORMAT(/,’ HATCH-call comes next’,/)
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close(UNIT=KMPI)
close(UNIT=KMPO)

! Print various data associated with each media (not region)
/I -_-—

150

160

170

180
190

write(8,150)

FORMAT(/,’ Quantities associated with each MEDIA:’)

do j=1,nmed
write(6,160) (media(i,j),i=1,24)
FORMAT(/,1X,2441)
write(6,170) rhom(j),rlcm(j)
FORMAT(5X,’ rho=’,G15.7,’ g/cu.cm
write(6,180) ae(j),ue(j)

rle=’,G15.7,’ cm’)

FORMAT(5X,’ ae=’,G15.7,’ MeV ue=’,G15.7,’ MeV’)

write(6,190) ap(j),up(j)

FORMAT(5X,’ ap=’,G15.7,’ MeV up=’,G15.7,’ MeV’,/)

end do

! Print media and cutoff energies assigned to each region
/I - — -

200

210

220

230

240

250

260

do i=1,nreg
if (med(i) .eq. 0) then
write(6,200) i
FORMAT(’ medium(’,I3,’)=vacuum’)
else

write(6,210) i, (media(ii,med(i)),ii=

FORMAT(’ medlum( ,13,7)=,24A1,

1,24),ecut(i),pcut(i)

’ecut=’, G10. 5,’ MeV pcut ’,G10.5,° MeV’)

if (iedgfl(i) .ne. 0) then
ner = nne(med(i))
do iiz=1,ner

! Output X-ray energy

izn = zelem(med(i),iiz) ! Atomic number of this element

write(6,220) izn

FORMAT(®  X-ray information for Z=’,I3)
write(68,230) (ekx(ii,izn),ii=1,10)
FORMAT(®  K-X-ray energy in keV’,/,

4G15.5,/,4G15.5,/,2G15.5)

write(68,240) (e1x1(11 1zn) ii=1,8)
FORMAT(’ L-1 X-ray 1in keV ./, 4G15.5,/,4G15.5)

write(8,250) (e1x2(ii,izn),ii=1,

5)

FORMAT(’ L-2 X-ray in keV’,/,5G15.5)

write(6,260) (elx3(ii,izn),ii=1,7)
FORMAT(’ L-3 X-ray 1in keV ./, 4G15 5,/,3G15.5)

end do
end if
end if
end do

write(39,fmt="(’MSTA’)")
write(39,fmt="(i4)") nreg
write(39,fmt="(16i4)") (med(i),i=1,nreg)
write(39,fmt="(’MEND’)")

ncount = 0
ilines = 0
nwrite = 10
nlines = 10
idin = -1
totke = 0.
wtsum = 0
iwatch=0

call ecnsv1i(0,nreg,totke)
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270

*
*

call ntally(0,nreg)

write(68,270)

FORMAT(//,’ Eneriy/Coordinates/Direction cosines/etc.’,/,
6%,'e’,14X, x’,14X, 'y’ , 14X, ’ 2",
14X,°u’,14X, v’ , 14X, w’, 11X, iq’,3X, *ir’, 1X, *iarg’,/)

Energy bin width
deltae=ekein / 50

Zero the variables
depe=0.D0
pefs=0.D0
pef2s=0.D0
tefs=0.D0
tef25=0.D0
do j=1,50
phs(j)=0.DO
ph2s(j)=0.D0O
do ntype=1,3
spec(ntype, j)=0.DO0
specs(ntype,j)=0.D0
spec2s(ntype, j)=0.D0
end do
end do

Set histories

ncases=10000

Set maximum number for pict
maxpict=50

tt=etime(tarray)
ttO=tarray(1)

Write batch number
write(39,fmt="(’0 1))

do i=1,ncases ! Start of shower call-loop

wtin = 1.0

wtsum = wtsum + wtin ! Keep running sum of weights

etot = ekein + iabs(iqin)*RM ! Incident total energy (MeV)

if(iqin.eq.1) then ! Available K.E. (MeV) in system
availke = ekein + 2.0%RM ! for positron

else ! Available K.E. (MeV) in system
gva%lke = ekein ! for photon and electron

end i

totke = totke + availke ! Keep running sum of KE

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(6,280) etot,xin,yin,zin,uin,vin,win,iqin,irin,idin
FORMAT(7G15.7,31I5)

end if

if (etot+(1-iabs(iqin))*RM.gt.emaxe) then
write(6,fmt="(’ Stopped in MAIN.’,

> (Incident kinetic energy + RM) > min(UE,UP+RM).’)")
stop
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if (abs(uin*uin+vin*vin+win*win-1.0).gt.1.e-6) then
write(6,fmt="(’ Following source direction cosines are not’,
1 >’ normarized.’,3el12.5)")uin,vin,win
stop
end if

call shower (iqin,etot,xin,yin,zin,uin,vin,win,irin,wtin)

! If some energy is deposited inside detector add pulse-height
! and efficiency.

if (depe .gt. 0.D0) then
ie=depe/deltae + 1
if (ie .gt. 50) ie =50
phs(ie)=phs(ie)+wtin
ph2s(ie)=ph2s(ie)+wtin*wtin
tefs=tefs + wtin
tef2s=tef2s + wtin*wtin
if(depe .ge. ekeinx*0.999) then
pefs=pefs +wtin
pef2s=pef2s +wtin
end if
depe = 0.DO
end 1if
do ntype=1,3
do 1e=1,50
specs(ntype,ie)=specs(ntype, ie)+spec(ntype,ie)
spec2s(ntype,ie)=spec2s(ntype,ie)+
* spec(ntype,ie)*spec(ntype,ie)
spec(ntype,ie)=0.D0
d do

en
end do
ncount = ncount + 1 ! Count total number of actual cases
! _______________________
end do ! End of CALL SHOWER loop

call plotxyz(99,0,0,0.D0,0.D0,0.D0,0.D0,0,0.D0,0.D0)
write(39,fmt="(’9’)") ! Set end of batch for CG View

tt=etime(tarray)
tti=tarray(1)
cputime=tt1-tt0
write(6,300) cputime
300 format(’ Elapsed Time (sec)=’,G15.5)

write(6,310) ncount,ncases,totke
310  FORMAT(/,’ Ncount=’,I10,’ (actual cases run)’,/,
* > Ncases=’,I110,’ (number of cases requested)’,/,

* > TotKE =’,G15.5,’ (total KE (MeV) in run)’)

if (totke .le. 0.D0O) then
write(6,320) totke,availke,ncount
320 FORMAT(//,’ Stopped in MAIN with TotKE=’,G15.5,/,
* > AvailKE=’,G15.5, /,’ Ncount=’,I10)
stop
end if

tdet=7.62

rdet=3.81

tcov=0.1

rtcov=0.1

tgap=0.5

rtgap=0.5

write(6,330) tdet,rdet,tcov,rtcov,tgap,rtgap

330 FORMAT(/’ Detector length=’,G15.5,’ cm’/
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350

360

370

380

400

* ¥ ¥ ¥

> Detector radius=’,G15.5,’ cm’/

> Al cover thickness=’,G10.2,’ cm’/

> Al cover side thickness=’,G10.2,’ cm’/

> Front gap =’,G10.2,’ cm’/’ Side gap =’,G10.2,’ cm’/)

write(68,340) ekein
FORMAT(’ Results for ’,G15.5,’MeV photon’/)

avpe = pefs/ncount

pef2s=pef2s/ncount

sigpe=dsqrt ((pef2s-avpe*avpe)/ncount)

avpe = avpe*100.0

sigpe = sigpe#*100.0

write(6,350) avpe,sigpe

FORMAT(’ Peak efficiency =’,G11.4,°+-’,G9.2,’ %’)

avte = tefs/ncount

tef2s = tef2s/ncount

sigte = dsqrt((tef2s-avte*avte)/ncount)

avte = avte*x100.0

sigte = sigte*100.0

write(6,360) avte,sigte

FORMAT(’ Total efficiemcy =’,G11.4,°+-’,G9.2,’ %’)

write(68,370)
FORMAT(/’ Pulse height distribution ’)
do ie=1,50

elow=deltae*(ie-1)

eup=deltaex*ie

avph = phs(ie)/ncount

ph2s(ie)=ph2s(ie)/ncount

sigph=dsqrt ((ph2s(ie)-avph*avph)/ncount)

avph = avph/deltae

sigph= sigph/deltae

write(6,380) eup,avph,sigph

FORMAT(’ E (upper-edge —-’,G10.4,’ MeV )=’,G15.5,’+-’,G15.5,

> counts/MeV/incident’)

end do

write(68,400)

FORMAT(/’ Particle spectrum crossing the detector plane’/
30X, ’particles/MeV/source photon’/
> Upper energy’,11X,’ Gamma’,18X,’ Electron’,
14X,’ Positron’)

do ie=1,50
elow=deltae*(ie-1)
eup=deltaex*ie

avspg = specs(1l,ie)/ncount
spec2s(1,ie)=spec2s(1,ie)/ncount
sigspg=dsqrt((spec2s(1,ie)-avspg*avspg)/ncount)
avspg=avspg/deltae

sigspg= sigspg/deltae

Electron spectrum per MeV per source
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avspe = specs(2,ie)/ncount
spec2s(2,ie)=spec2s(2,ie)/ncount
sigspe=dsqrt((spec2s(2,ie)-avspe*avspe)/ncount)
avspe= avspe/deltae

sigspe= sigspe/deltae

avspp = specs(3,ie)/ncount

spec2s(3,ie)=spec2s(3,ie)/ncount

sigspp=dsqrt((spec2s(3,ie)-avspp*avspp)/ncount)

avspp= avspp/deltae

sigspp= sigspp/deltae

write(6,410) eup,avspg,sigspg,avspe,sigspe,avspp,sigspp
410 gOgMAT(GlO.S,’ MeV--,3(G12.5,’+-’,G12.5))

end do

nlist=1

call ecnsvi(nlist,nreg,totke)
call ntally(nlist,nreg)

call counters_out(1)

| Version: 080708-1600

| Reference: SLAC-265 (p.19-20, Appendix 2)
gy M M S

123456789 | 123456789 | 123456789 | 123456789 | 123456789 | 123456789 | 123456789 12

! Required subroutine for use with the EGS5 Code System
|

A AUSGAB to:

2) Score particle information enter to detector from outside
3) Print out particle transport information

|
!
! 1) Score energy deposition
!
!
! 4) call plotxyz if imode=0

subroutine ausgab(iarg)
implicit none
include ’include/egs5_h.f’ ! Main EGS '"header" file

include ’include/egs5_epcont.f’ ! COMMONs required by EGS5 code
include ’include/egs5_misc.f’

include ’include/egs5_stack.f’

include ’include/egs5_useful.f’

include ’auxcommons/aux_h.f’ ! Auxiliary-code '"header'" file

include ’auxcommons/etalyl.f’ ! Auxiliary-code COMMONs

include ’auxcommons/lines.f’
include ’auxcommons/ntalyl.f’

include ’auxcommons/watch.f’

common/totals/ ! Variables to score
* depe,deltae,spec(3,50),maxpict
real*8 depe,deltae,spec
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integer maxpict

integer ! Arguments
* iarg

real*8 ! Local variables
* edepwt

integer

* je,iql,irl,ntype

irl = ir(ap)
iql = iq(np)
edepwt = edep#*wt(np)

if (iarg .lt. 5) then
esum(iql+2,irl,iarg+1)
nsum(iql+2,irl,iarg+1)
end if

esum(iql+2,irl,iarg+1l) + edepwt
nsum(iql+2,irl,iarg+l) + 1

if (med(irl). eq. 1) then
depe = depe + edepwt

if (irl .ne. irold .and. iarg .eq. 0) then
if (iql .eq. 0) then ! photon
ntype=1
ie = e(np)/deltae +1
if(ie .gt. 50) ie = 50
elseif (iql .eq. -1) then I electron
ntype=2
ie = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
else ! positron
ntype=3
ie = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
end if
spec(ntype,ie) = spec(ntype,ie) + wt(np)
end if
end if

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(6,100) e(np),x(np),y(np),z(np),ulnp),v(np),w(np),
* iql,irl,iarg
100 FORMAT(7G15.7,3I5)
end if

if (ncount.le.maxpict) then
call plotxyz(iarg,np,iq(np),x(np),y(ap),z(np),e(np),ir(np),
* wt(np),time(np))
end if
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return
end

e last line of ausgab.f-———————"—-—-—-----------—
b howfar.f---------\-------—-
Version: 070627-1600
Reference: T. Torii and T. Sugita, "Development of PRESTA-CG

i
!
! Incorporating Combinatorial Geometry in EGS4/PRESTA", JNC TN1410 2002-201,
! Japan Nuclear Cycle Development Institute (2002).

! Improved version is provided by T. Sugita. 7/27/2004

subroutine howfar
implicit none

include ’include/egs5_h.f’ ! Main EGS '"header" file
include ’include/egs5_epcont.f’ ! COMMONs required by EGS5 code
include ’include/egs5_stack.f’

include ’auxcommons/geom_common.f’ ! geom-common file

integer i,j,jjj,ir_np,nozone, jty,kno

inte§er irnear,irnext,irlold,irlfg,itvlfg,ihitcg

double precision xidd,yidd,zidd,x_np,y_np,z_np,u_np,v_np,Ww_np
double precision tval,tvalO,tval00,tvallO,tvalmn,delhow
double precision atvaltmp

integer iq_np

ir(np)
iq(np) + 2

ir_np
iq_np

if(ir_np.le.0) then
write(6,*) ’Stopped in howfar with ir(np) <=0’
stop

end if

if(ir_np.gt.izonin) then
write(6,*) ’Stopped in howfar with ir(np) > izonin’
stop

end if

if(ir_np.EQ.izonin) then
idisc=1
return

end if

tval=1.d4+30
itvalm=0

c body check
u_np=u(np)
v_np=v(np)
w_np=w(np)
x_np=x(np)
y-np=y (np)
z_np=z(np)

do i=1,nbbody(ir_np)
nozone=ABS(nbzone(i,ir_np))
jty=itblty(nozone)
kno=itblno(nozone)
c rpp check
if(jty.eq.ityknd(1)) then
if(kno.le.0.or.kno.gt.irppin) go to 190
call rppcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
c sph check
elseif (jty.eq.ityknd(2)) then
if(kno.le.0.or.kno.gt.isphin) go to 190
call sphcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
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190

310

320

rcc check
elseif (jty.eq.ityknd(3)) then
if(kno.le.0.or.kno.gt.irccin) go to 190
call rcccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
trc check
elseif (jty.eq.ityknd(4)) then
if(kno.le.0.or.kno.gt.itrcin) go to 190
call trccgi(kno,x_np,y_np,z_np,u_np,v_np,w_np)
tor check
elseif (jty.eq.ityknd(5)) then
if(kno.le.0.or.kno.gt.itorin) go to 190
call torcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
rec check
elseif (jty.eq.ityknd(6)) then
if(kno.le.0.or.kno.gt.irecin) go to 190
call reccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
ell check
elseif (jty.eq.ityknd(7)) then
if(kno.le.0.or.kno.gt.iellin) go to 190
call ellcgi(kno,x_np,y_np,z_np,u_np,v_np,w_np)
wed check
elseif(jty.eq.ityknd(8)) then
if(kno.le.0.or.kno.gt.iwedin) go to 190
call wedcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
box check
elseif (jty.eq.ityknd(9)) then
if(kno.le.0.or.kno.gt.iboxin) go to 190
call boxcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
arb check
elseif (jty.eq.ityknd(10)) then
if(kno.le.0.or.kno.gt.iarbin) go to 190
call arbcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
hex check
elseif (jty.eq.ityknd(11)) then
if(kno.le.0.or.kno.gt.ihexin) go to 190
call hexcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
haf check
elseif(jty.eq.ityknd(12)) then
if(kno.le.0.or.kno.gt.ihafin) go to 190
call hafcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
tec check
elseif (jty.eq.ityknd(13)) then
if(kno.le.0.or.kno.gt.itecin) go to 190
call teccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
gel check
elseif (jty.eq.ityknd(14)) then
if(kno.le.0.or.kno.gt.igelin) go to 190
call gelcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)

add new geometry in here

end if
continue
end do

irnear=ir_np

if(itvalm.eq.0) then
tvalO=cgepsi
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
continue

if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) goto 320

tvalO=tvalO*10.d0
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 310
continue
write(*,*) ’srzone:1’
call srzone(xidd,yidd,zidd,iq _np,ir_np,irnext)

if (irnext.ne.ir_np) then
tval=0.0d0
irnear=irnext

else
tval00=0.0d0
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tvall0=10.0d0*tval0
irlold=ir_np
irlfg=0
330 continue
if(irlfg.eq.1) go to 340
tval00=tvalO00+tvalil
if(tval00.gt.1.0d+06) then

write(6,9000) iq(np),ir(np),x(np),y(np),z(np),

& u(np),v(np),w(np),tvalo0
9000 format(’ TVALOO ERROR : iq,ir,x,y,z,u,v,w,tval=’,
& 213,1P7E12.5)
stop
end if

xidd=x_np+tval00*u_np
yidd=y_np+tval00*v_np
zidd=z_np+tval00*w_np
call srzold(xidd,yidd,zidd,irlold,irlfg)
go to 330

340 continue

tval=tvalO0
do j=1,10
x1dd=x_np+tvalO0*u_np
yidd=y_np+tval00*v_np
zidd=z_np+tval00*w_np
write(*,*) ’srzone:2’
call srzone(xidd,yidd,zidd,iq_np,irlold,irnext)
if (irnext.ne.irlold) then
tval=tvalO0
irnear=irnext
end if
tval00=tval00-tvalO
end do
if(ir_np.eq.irnear) then
write(0,#*) ’ir(np),tval=’,ir_np,tval
end if
end if
else
do j=1,itvalm-1
do i=j+1,itvalm
if(atval(i).lt.atval(j)) then
atvaltmp=atval(i)
atval(i)=atval(j)
atval(j)=atvaltmp
endif
enddo
enddo
itvlfg=0
tvalmn=tval
do jjj=1,itvalm
if(tvalmn.gt.atval(jjj)) then
tvalmn=atval(jjj)
end if
delhow=cgeps2
tvalO=atval(jjj)+delhow
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
410 continue
if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) go to 420
delhow=delhow*10.d0
tvalO=atval(jjj)+delhow
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 410
420 continue
write(*,*) ’srzone:3’
call srzone(xidd,yidd,zidd,iq_np,ir_np,irnext)
if((irnext.ne.ir_np.or.atval(jjj).ge.1.).and.
& tval.gt.atval(jjj)) THEN
tval=atval(jjj)
irnear=irnext
itvlf§=1
oto 425
end if
end do
425 continue
if(itvlfg.eq.0) then
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tvalO=cgmnst
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
430 continue
if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) go to 440
tvalO=tval0#*10.40
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 430
440 continue
if(tvalmn.gt.tval0) then
tval=tvalmn
else
tval=tvalO
end if
end if
end if
ihitcg=0
if(tval.le.ustep) then
ustep=tval
ihitcg=1
end if
if(ihitcg.eq.1) THEN
if (irnear.eq.0) THEN
write(6,9200) iq(np),ir(np),x(np),y(np),z(np),
& u(np),v(np),w(np),tval
9200 format(’ TVAL ERROR : iq,ir,x,y,z,u,v,w,tval=’,2I3,1P7E12.5)
idisc=1
itverr=itverr+1
if(itverr.ge.100) then
stop
end if
return
end if
irnew=irnear
if (irnew.ne.ir_np) then
call rstnxt(iq_np,ir_np,irnew)
endif
end if
return
end
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